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FENGERMEIC BT 5. HBE ORE LI TICEHET 5,

& 1-1 BHELEOF (FHRFEERE) (LB EXERGH (). TE: kXR)
13mm 20mm 25mm 30mm 40mm 50mm 75mm &&t
—hE A 15, 653 6, 327 114 22,094
e 385 459 258 42 72 72 12 1,300
s 17 14 31
=5 16, 055 6, 800 372 42 72 72 12| 23,425
13mm 20mm 25mm 30mm 40mm 50mm 75mm &5t
—h& A 66. 9% 27. 0% 0. 5% 94. 4%
£%HA 1. 6% 2. 0% 1.1% 0. 2% 0. 3% 0. 3% 0.1% 5. 6%
Fife BF AR 0. 1% 0. 1% 0. 2%
=5 68. 6% 29. 1% 1. 6% 0. 2% 0. 3% 0. 3% 0.1% 100%
22 E RIEAE D _FEAFKEFH)
= — % A 15mm = — 1% A 20mm = — 1% FH25mm ZFEF13mm
s EFER20mm s ZEFERZ5mm s EFEA0mm = 2575 A 40mm
= ZEFEAL0mm = ZEFEH5mm = ERBF AR 1 3mm = BE6F A 20mm
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13mm 20mm 25mm 30mm 40mm 50mm 75mm &t
—h& M 70. 7% 28. 7% 0. 6% 100. 0%
X7 A 29. 7% 35. 4% 19. 8% 3. 2% 5. 5% 5. 5% 0. 9% 100. 0%
ERE% A 54. 8% 45. 2% 100. 0%
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® 1-3 AREOR (SMRFEEE) (LB : FHAKE (m), FK: tbF)

13mm 20mm 25mm 30mm 40mm 50mm 75mm Eit
—h& A 293,937 156, 602 4,104 454, 643
(%A 3,925 13,098 12,425 15, 151 5,371 33,528 1,020 84,524
GBS A 135 43 178
&t 297,997 169, 743 16, 529 15, 151 5,371 33,528 1,020 539,345
13mm 20mm 25mm 30mm 40mm 50mm 75mm Eit
—h& A 54. 6% 29. 0% 0. 8% 84. 4%
(%A 0. 7% 2. 4% 2.3% 2. 8% 1. 0% 6. 2% 0.2% 15. 6%
E& B A 0.0% 0. 0% 0. 0%
=1 55. 3% 31. 4% 3.1% 2. 8% 1. 0% 6. 2% 0.2% 100%
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s —f{E 1 3mm s — {2 20mm = — 5 2Bmm ZEFEH13mm
= ZEFE A2 0mm = ZEFERZbmm = 23 0mm = ZEFZ A A0mm
= ZEFZAL0mm = ZEFERTOmm = FE0E 1 3mm = EE8% A2 0mm
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13mm 20mm 25mm 30mm 40mm 50mm 75mm &5t

— & 64. 7% 34. 4% 0.9% 100. 0%
X7 A 4. 6% 15. 5% 14. 7% 17. 9% 6. 4% 39. 7% 1.2% 100. 0%
i 75.8%  24.2% 100. 0%
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x 1-5 ARLOF (SHMRFERK) (LK KEMEIRA (F). TK: lbE)

X 1-6 AZ&EOF (FMTEERB)

13mm 20mm 25mm 30mm 40mm 50mm 75mm &&t
—f%F |[51,268,600(27, 308,023 742,148 79, 318, 711
%78 |2,317,255(5,161,189(3, 761, 0113, 493, 827|1, 484, 085|7, 745, 776| 320, 345| 24, 283, 488
Fife BF AR 430, 740{ 97, 381 528, 121
&5t | 54,016,595(32, 566, 593(4, 503, 1593, 493, 8271, 484, 085|7, 745, 776| 320, 345| 104, 130, 380
13mm 20mm 25mm 30mm 40mm 50mm 75mm &&t
—hE A 49. 3% 26. 2% 0. 7% 76. 2%
e 2. 2% 5. 0% 3. 6% 3. 4% 1. 4% 1. 4% 0.3% 23. 3%
e 0. 4% 0.1% 0. 5%
a% 51. 9% 31. 3% 4. 3% 3. 4% 1.4% 1. 4% 0.3% 100%
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13mm 20mm 25mm 30mm 40mm 50mm 75mm &t
—f& A 64. 6% 34.4% 0. 9% 99. 9%
£%H 9.5% 21.3% 15.5% 14. 4% 6. 1% 31.9% 1.3% 100. 0%
izl 81. 6% 18. 4% 100. 0%
—fEAZEIE RIFATES KEHS)
0.9%
= —H2 1 3mm = —f{rE20mm = — % FH25mm

ERbAHEIE (RIGEE S _MER )

XBAEAE RIEAES KEHE)
%

= B=BF A 3mm

= EEFEA13mm = ZEFEA20mm = ZEFEREZImm - FEFEFS0mn = FSRE FH20mm

n EEFE A A0mm = ZEFEARL0mm = ZEFEESmm
1-7 RARANELE (FMTEEEE




